INFORMATION

S S|
Lv : 872" / 11.5%
72| ¢o|X| : 126
273 "= : 150
ojojx] 2[=M : 34
PVP H|O|X| 2|EM : 13
AC : 1954}

A 2%

210 : 117

izl p] : 107} (FULL)

rad
ME
rE
-

Q

12

l

OF
[



1. 7= A70 (Fun =2/

22| go|x)
HAe 8BS

;""1;1 LIME}
#2| Loi2(AC)

M2 #mA(ER

Max H¥

O} CHO|X
o} o =
O} 2L A(MB)

y >
MP 2% a2

Max MF
MP 2| %(%)
=< MP 81 =R(%

Otsl S0=(MR)

;
Olo|H 27} 24 WOl
i

NSl B3 HIS 2}
o8 % IS &2

184 % k7 &4 l"'\'
oo Y e o

OlO|H ®F H| 8 A4
=Y ma 4ol

= J
i Ol0|Y =
(HA} 21844l B2
2 OO0 =4

CHAD X M2y

I:II-()-I Ml EI)

oYl AO

3 &%
O|F &%
MM &%

|21 S0l

+219%
+66%
+80%
+09%

22| #uA(DG)
CHO|X] 2| M
PVP CJO|X] 2|& M

| CHO|X] 2] S{M A

: OJA] 2= 54
O} CHO|X] 2|S9M 24
PVP 22| &7} o] x|
PVP #2{2] &7} t40|X]

& 9L rgnt i

S Y
s34 g
B Y

A2 WY

il 44 XNY
oAy MY
B4y XY
71

B2 =7}

5058 / 5173
924 / 924

M -195 L£24 X 18




2. OIO|E&l SiZ} (=7 ur01q)

CEEH)
T/ 80+ H| 1
Y =5E2 +8 AHele] Hl+ 59% |BH:STR1 B3 2541
+9 0r=19] € E Rl
=S92 +80IEE0 £
F=SE2 45 B0 Hadl2
* +6 SlLE AR EME
=S92 +8 0180 B
O =ESE2 6 A A
F 7 SiUE AR AL
FESE2 +70R8x
=592 +9 +EEL
FESE2 +7 MEs RS I | A0




o 1 0
OHAIA 2] Bl
z 67
Z 554
Z 657

o2 gol #E

CEM0 HA0 20|

7[442] 8Fx|

7[442] 8Fx|

—

A
w
0%

58
-

Z6

=N ry Ry {p

rEL | ofo |0 |0

oz |0t

A re re




O}0|

i =5
)

- O

=2

Z|CH HP +1695

Z|CH MP +270

x| BYA +15.2%

AC -9

2 S8 +7%

AR HF +3%

=2 BF +10

#HHe| S +6

PVP 2A2| $7} CHo|X| +5
PVP #A2| 7} to|X| +4
MP 2| +1

OF CHO|X| +1

=] CHo|X] +3

A2 Cjo|x| +2

29 SEIY 32 1%

29 S|=% 43

MR +17

=H2| CHo|X| 2|54 FA| +1
A2 to|x] 2|54 FA| +1
CON +4

SH BHA +670

STR +5

DEX +3

A2 2jmE +8

& 88 M +2%

CHOIX] 2{54 +1

PVP CHO|X| 2|9 M +2

HiE §4 M +1%

& 49 N8 +1%

S 59 HE +1%

O|F &< +0.5%




Z|CH HP +380

Z|CH MP +195

AC -15

2 SEE +5%

HP 2|5 +4

=2 CHo|X] +12
A2 CHolX] +10
Opg CHO|X| +2

MR +13

=2 2|m2 +3
CHOIX] 2|4 +3
MP 2|5 +4

HAH2 BF +13
PVP CHO|X| 2|S{M +4
Y &k +1%
=2 BF +12

Ot B35 +1

FH EBUHA #1770
0|F &£ +1%

DEX +5

=He| X|BE} +1%
PVP 2 42| 7} tHO|X] +4
INT +4

STR +3

CON +2

A2 2o +8

SP +5

WIS +1

A2 X|IHE +1%
E2 OpE Yoz 1%
PVP 22| F7} t§o|X] +2
A2 2Oz FA] +1




| #d7E FA

Z|CH HP +380

Z|CH MP +195

AC -15

2 SEE +5%

HP 2|5 +4

=2 CHo|X] +12
A2 CHolX] +10
O} CHO|X]| +2

MR +13

A2 2|03 +3
CHOIX] 2|4 +3
MP 2|5 +4

HAH2 BF +13
PVP CHO|X] 2|SM +4
S L +1%
=2 35 +12

Ot B35 +1

FH EBUHA #1770
0|F &£ +1%

DEX +5

= A2 X|BEL +1%
PVP 22| £7} tHO|X] +4
INT +4

STR +3

CON +2

A2 2o +8

SP +5

WIS +1

A2 X|HE +1%
2| 0} 2ol 1%
PVP #2e| F7} CHO|X] +2
A2 2Oz FA] +1




| OHHIY 7IE FHAM

I

= M
= W

8| opgol

S| PRI -

o3, AL2|E, Ao £ 40|, HiC} 5]

Z|CH HP +215

Z|CH MP +60

AC -5

X U2 +14%
Y SEE +1%
=2 835 +3
#HAH2 FF +3
HP 2% +6

2 42| t§o|X] +4
A2 tho|X| +3
MR +10

CHOIX] 2|59 +4
=2 X|HE +2%
#HHe Sme +4
22| &m2 +4

PVP CHO|X| 2{S4 +3

SP +2

DEX +1

FAH EHA +150
WIS +1

M2 X|HE +1%
MP 2|5 +1

= 2|2 2A| +2
HAHe SnjE £A| +3




- O3 Qg E
- E|0jEE HHY
- CIaHIXA

- C}30}0]




ofiutel 2

2| HP +180

B SRR +12%
B2 2RY +12
B BEIRY P2 5%

mjoraz|ee| 2

K »
PIZN

A BHA +90

22| tiolx| +6

DH2| B +6

#7{2| tho|x| +6

2| BF +6

SP +4

22| X|YE +1%

#H2| X|IYEL +1%

ojz2g| gy

>

®.0-®

R4

kO
PIA
Z|CH HP +180

AC -6

MR +14

CHO|X] 2/S4A +1

Atolste) 2

IV 2§ MP +28
Y| BHA +5%
S8 ADY UL 1%

aalolel BY

[
PN
VI Z{th HP +144
2|Uf MP +54
CHOIX] 24 +6%
=+

S HoIx) 24 3%

OfeIstAtES] B2

Yot s
10/20

B YR +2%

AC -1

X BUA +3%

ORIBIAIES] HF ST HUA +45%
=242| tojx| +1

H2{2| tiolx] +1

CHOIX) 22 +2%

BN ARY +2

2H2| A= +




| O1A -
oj;i?—l ms
gjﬂa: CHO|X| 1
o CHO|X| o
o CHO| x| 4
- 10104 "H
| 3 "5:1
1




g2 :2d
Lv : 803|'dl / 40%
AC : 1644t

So|ALE (2HQ/& X% 35 :
+OEE, +9AO[E

+6o|Xt=EMHO| FZE L, +58 371




